C10D[N G I NTERSECTION
DF
HALF PLANES

* = a point inside the intersection


Greg

Greg
*

Greg
* = a point inside the intersection

Greg

Greg








<

/\ QV\ve,(oPe, O'Q

.Qo we ,al' nes

QO wes QV\UO,IO pe

o£ ‘)PPQr ,Q{NM



UP‘)Q(‘ /\ ‘|‘Q no ‘IV\'I-Q‘.SQC;HOV\
Q,V\Vc,(ope, o‘Q ‘hen em/e,lo‘s-e/s

.Qowe_r .a/\'n-e.f \n.owe. Some. \fe_(‘-l':\Ca&
SePO\fa.'(".lo'\r\ "l'\f\d\*

hovs o local min.

The algorithm that follows
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Of course, these are polygonal,
so "parallel" could be a vertex vs an edge
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